
Description
Approx. 

Qty
UoM

12460 1000006690 A
TEE,PIPE;REDUCING;3" X 2";BUTT WELD;SCH STD;SEAMLESS BLACK CARBON STEEL;GR WPB;ASTM 
A234,ASME SA234;DOMESTIC

4 EA

303744 1000232883 B ELBOW,PIPE;1";WELDED;90DEG;LONG RADIUS;SCH XH;CARBON STEEL 20 EA

12402 1000006632
ELBOW,PIPE;SEAMLESS;2";BUTT WELD;90DEG;LONG RADIUS;SCH STD;BLACK CARBON STEEL;ASTM 
A234,ASME SA234;GR WPB;DOMESTIC

17 EA

278379 1000208601 B
REDUCER,PIPE;CONCENTRIC;4" X 3";BUTT WELD;SCH STD;CARBON STEEL;GR WPB;ASTM A234,ASME 
SA234

2 EA

12432 1000006662
REDUCER,PIPE;CONCENTRIC;4" X 3";BUTT WELD;SCH STD;SEAMLESS BLACK CARBON STEEL;GR 
WPB;ASTM A234,ASME SA234;DOMESTIC

12 EA

12434 1000006664
REDUCER,PIPE;CONCENTRIC;6" X 3";BUTT WELD;SCH STD;SEAMLESS BLACK CARBON STEEL;GR 
WPB;ASTM A234,ASME SA234;DOMESTIC

10 EA

25355 1000019221 B
REDUCER,PIPE;CONCENTRIC;6" X 3";BUTT WELD;SCH STD;SEAMLESS BLACK CARBON STEEL;GR 
WPB;ASTM A234,ASME SA234;DOMESTIC

3 EA

219311 1000157528 B REDUCER,PIPE;CONCENTRIC;6" X 4";WELDED;SCH STD 1 EA

12435 1000006665
REDUCER,PIPE;CONCENTRIC;6" X 4";BUTT WELD;SCH STD;SEAMLESS BLACK CARBON STEEL;GR 
WPB;ASTM A234,ASME SA234;DOMESTIC

10 EA

12436 1000006666
REDUCER,PIPE;CONCENTRIC;8" X 4";BUTT WELD;SCH STD;SEAMLESS BLACK CARBON STEEL;GR 
WPB;ASTM A234,ASME SA234;DOMESTIC

3 EA

168745 1000119866
REDUCER,PIPE;CONCENTRIC;8" X 6";BUTT WELD;SCH XS;SEAMLESS BLACK CARBON STEEL;GR 
WPB;ASTM A234,ASME SA234

2 EA

12440 1000006670
REDUCER,PIPE;CONCENTRIC;10" X 8";BUTT WELD;SCH STD;SEAMLESS BLACK CARBON STEEL;GR 
WPB;ASTM A234,ASME SA234;DOMESTIC

8 EA

318316 1000252466 B ELBOW,PIPE:6";BW;45 DEG;LONG RADIUS;STD;CS,HIGH YIELD;ASME B16.9;GRWPHY52 3 EA

205939 1000149356 B
ELBOW,PIPE;4";BUTT WELD;45DEG;LONG RADIUS;SCH STD;SEAMLESS BLACK CARBON STEEL;ASTM 
A234,ASME SA234;GR WPB;FU62;QA/QC CERT REQ IMPORT

8 EA

317497 1000251811 B REDUCER,PIPE:CONCENTRIC;2" X 1";BW;SCH 40S;SS;ASTM A182,ASME B16.9;GR F316/316L 2 EA
317500 1000251814 B REDUCER,PIPE:CONCENTRIC;2" X 1-1/2";BW;SCH 40S;316L SS;ASTM A403 2 EA
256539 1000188036 B REDUCER,PIPE;CONCENTRIC;3" X 2";BUTT WELD;SCH 40;316 STAINLESS STEEL 5 EA

13789 1000008018
TEE,PIPE:SEAMLESS;2";BW;SCH 80S;BARE WP316L SS;ASTM A403,ASME 
SA403;DOMESTIC;MFG:UNK,P/N:36163020080; ** FITTINGS, FLG, NIPPLES, UNIONS, ETC

1 EA

234320 1000168527 B TEE,PIPE;1";BUTT WELD;SCH 80;F316 STAINLESS STEEL;FOREIGN 10 EA

26660 1000019641 B TEE,PIPE;3";BUTT WELD;SCH 80;SEAMLESS BARE 316L STAINLESS STEEL;GR WP;ASTM A403,ASME SA403 1 EA

LOT DETAILS 15759-436



256540 1000188037 B TEE,PIPE;EQUAL;2";BUTT WELD;SCH 40;316 STAINLESS STEEL 2 EA
239635 1000173191 B TEE,PIPE;3";BUTT WELD;SCH 40;GR 316L;QA/QC CERT REQ IMPORT 4 EA
286780 1000216606 B ELBOW,PIPE;4";BUTT WELD;45DEG;SCH 80;STAINLESS STEEL 6 EA
317499 1000251813 B ELBOW,PIPE:6";BW;45 DEG;LONG RADIUS;SCH 40S;ASTM A403-WP304L,ASME B16.9 2 EA
256662 1000188158 B REDUCER,PIPE;CONCENTRIC;8" X 4";BUTT WELD;SCH 40;316 STAINLESS STEEL 1 EA
285620 1000215548 B NIPPLE,PIPE;1/2";3" LG;SCH 80;STAINLESS STEEL;GR 316/316;TUBE;MFG: ASP;P/N: 14E341H4 50 EA
250577 1000183046 B NIPPLE,PIPE;1-1/2";3" LG;SCH 80;STAINLESS STEEL;TUBE;ASTM A312,T304/LS 6 EA
264517 1000195507 B NIPPLE,PIPE;3/4";4" LG;SCH 80;STAINLESS STEEL;GR 316L;TUBE;DOMESTIC 25 EA

206010 1000149425 B
NIPPLE,PIPE;SEAMLESS;1";4" LG;SCH 80;BARE 316L STAINLESS STEEL;TUBE;ASTM A312,ASME SA312;P/N: 
010020564

19 EA

259291 1000190656 B NIPPLE,PIPE;2";4" LG;SCH 80;STAINLESS STEEL;TUBE 8 EA

25596 1000019322 B
NIPPLE,PIPE;SEAMLESS;2";6" LG;SCH 80;BARE 316L STAINLESS STEEL;TUBE;ASTM A312,ASME SA312;P/N: 
010026864

32 EA

25628 1000019330 B TEE,PIPE;1/2";THREADED;2000LB;316L STAINLESS STEEL;ASME B16.11;DOMESTI 7 EA

205397 1000148955 B
VALVE,GATE;3/4";800LB;THREADED;A105N;SEAT,STEM,CR13,A105N CR13 HL11 
TRIM;BOLTED;NACE;IMPORT;MFG: BONNEY FORGE

1 EA

264301 1000195292 B
VALVE,GATE;3/4";CLASS 800;THREAD X THREAD;F316L STAINLESS STEEL;F316LSTEM,DISC AND SEAT 
TRIM;STANDARD PORT;BOLTED BONNET;NACE;MFG: BONNEY FORGE;P/N: 3/4 HL -18L-T-NACE

1 EA

266829 1000197735 B ELBOW,PIPE;3";BUTT WELD;90DEG;SCH 80;STAINLESS STEEL;GR WP/316;QA/QC CERT REQ IMPORT 9 EA

269765 1000200448 B ELBOW,PIPE;4";BUTT WELD;90DEG;SCH 40;STAINLESS STEEL 4 EA

284528 1000214501 B
ELBOW,PIPE;4";BUTT WELD;90DEG;LONG RADIUS;SCH 80S;STAINLESS STEEL;ASTM A403-WP316L,ASME 
B16.9;QA/QC CERT REQ C/C1/D/Q/T/Y/Z

5 EA

25764 1000019405 B
FLANGE,PIPE;WELD NECK;4";CLASS 600;RAISED FACE FACE;SCH XS;FORGED BLACK CARBON STEEL;GR 
DOMESTIC;ASTM A105N,ASME SA105N,ASME B16.5

4 EA

318299 1000252449 B FLANGE,PIPE:WELD NECK;RF;4";CLASS 600;STD;HIGH YIELD BLACK;ASTM A694;GR F52;ASME B16.5 4 EA

239421 1000173024 B
ELBOW,PIPE;6";BUTT WELD;90DEG;LONG RADIUS;SCH 40S;BARE 316/316L STAINLESS STEEL;ASTM 
A403,ASME SA403;GR WP;DOMESTIC

6 EA

272687 1000203172
BOLT,HEXAGONAL;STUD;5/8" DIA;ALL THREAD;5-1/4" LG;CARBON STEEL,CAD PLATED ALLOY;ASTM 
A193;GR B7/2H;COMES WITH 2 HEX NUTS

180 EA

13318 1000007547 BOLT,STUD;5/8" DIA;6" LG;CADMIUM PLATED;ASTM A193;GR B7M;WITH 2 HH NUT 24 EA

272688 1000203173
BOLT,HEXAGONAL;STUD;5/8" DIA;ALL THREAD;6-3/4" LG;CARBON STEEL,CAD PLATED ALLOY;ASTM 
A193;GR B7/H2;COMES WITH 2 HEX NUTS

126 EA

281403 1000211527 B BOLT,STUD;5/8" DIA;7-3/4" LG;CADMIUM PLATED ALLOY;GR B7 20 EA
272689 1000203174 BOLT,HEX;STUD;WITH NUTS;5/8" X 7-1/2";A193;B7 75 EA



14329 1000008557
BOLT,STUD;7/8" DIA;4-3/4" LG;9 UNC;CADMIUM PLATED ALLOY;ASTM A193;GR B7;COMES WITH 2 HEX 
NUTS GR 2H

58 EA

218609 1000157214 B BOLT,STUD;7/8" DIA;7" LG;CADMIUM PLATED;GR B7M;COMES WITH 2 HEX NUTS 73 EA
185411 1000134058 BOLT,STUD;1-1/8" DIA;6" LG;GR B7;COMES WITH NUTS 127 EA

1000258258
MONITOR,TOUCHSCREEN:PANELVIEW PLUS 7 STANDARD TERMINAL,TOUCH 
SCREEN,15XGA,COLOUR,DLR ETHERNET,24V DC,WINDOWS CE OS LICENSE;MFG:ALLEN 
BRADLEY,P/N:2711P-T15C21D8S,ALT MFG:ROCKWELL AUTOMATION

1 EA

317579 1000251885 B STUD:BOLT;3/4" DIA;3-1/2" LG;10 UNC;CAD PLTD ALLOY;ASTM A193;GR B7;C/W 2 HEX NUTS GR 2H 100 EA

13319 1000007548 B BOLT,STUD;3/4" DIA;4" LG;CADMIUM PLATED;ASTM A193;GR B7M;WITH 2 HH NUT 42 EA
318200 1000252377 B STUD:BOLT;1" DIA;7-1/2" LG;ALLOY CAD PLTD;GR B7M;C/W 2 HEX NUTS GR 2HM 1 EA
318211 1000252382 B STUD:BOLT;1" DIA;8" LG;ALLOY CAD PLTD;ASTM A193;GR B7M;C/W (2) 2HM HEX NUTS 22 EA
279849 1000210034 B BOLT,STUD;1-1/8" DIA;6-3/4" LG;CADMIUM PLATED STEEL;GR B7 28 EA
287630 1000217408 B STUD,ALL-THREAD;BOLT;1-1/8" DIA;6-1/2" LG;CADMIUM PLATED;GR B7M;ALL THREAD 27 EA

263473 1000194489 B
VALVE,GATE;1";CLASS 300;RAISED FACE FLANGED;CF8M;316 STAINLESS STEEL STEM 
TRIM;HANDWHEEL;MFG: WME WILLIAMS VALVE CORP;P/N: S302F6-316

1 EA

263465 1000194481 B
VALVE,GATE;1-1/2";CLASS 300;RAISED FACE FLANGED;A105N;STEM & DISC F316-L,F316-LHF SEAT 
TRIM;HANDWHEEL;MFG: BONNEY FORGE;P/N: L313

1 EA

272553 1000203043 B
VALVE,GATE;2";1440PSI,CLASS 600;FLANGED END;STAINLESS STEEL,F316;SEAT316MF,DISC-STEM 
316,VOGT F316L TRIM;HANDWHEEL;AP1602,ASME B16.34,A182-F316-L316;P52,SERIES 378;MFG: 
FLOWSERVE;P/N: 49516A9-R9

2 EA

13494 1000007723 B
VALVE,CHECK:SWING;2";CLASS 300;RF FLG;BOLTED COVER;CS ASTM A216 GR WCC BODY;316 SS 
TRIM;BUNA SEAL;API 6D,NACE;MFG:WHEATLEY GASO,P/N:910-025072-121

1 EA

263466 1000194482 B
VALVE,GATE;2";CLASS 600;RAISED FACE FLANGED;ASTM A216 GR WCB;13 CHROME,13 
CHROME/STELLITE 6 SEAT FACE TRIM;OS AND Y;HANDWHEEL

1 EA

286673 1000216501 B VALVE,GATE;1";1500LB;FLANGED;F316DC;FULL PORT;HANDLE OPT;MFG: SMITH VALVE;P/N: G895 JW060 3 EA

272554 1000203044 B
VALVE,GATE;1-1/2";1440PSI,CLASS 600;FLANGED END;STAINLESS STEEL,F316;SEAT 316HF,DISC-STEM 
316,VOGT F316L TRIM;HANDWHEEL;AP1602,AMSE B16.34,A182-F316-L316;P52,SERIES 378;MFG: 
FLOWSERVE;P/N: 49515A9-R12

7 EA

263460 1000194479 B
VALVE,GATE;1-1/2";CLASS 600;RAISED FACE FLANGED;316 STAINLESS STEEL;316 STAINLESS STEEL DISC 
AND STEM,F316 SEAT TRIM;NACE;MFG: BONNEY FORGE;P/N: L618L

4 EA

286673 1000216501 B VALVE,GATE;1";1500LB;FLANGED;F316DC;FULL PORT;HANDLE OPT;MFG: SMITH VALVE;P/N: G895 JW060 2 EA

263244 1000194302 B
VALVE,GATE;1-1/2";CLASS 1500;RTJ FLANGED R20;CAST CARBON STEEL ASTM A105;CR13 HARD FACED 
WEDGE/SEATS TRIM;STANDARD PORT;BOLTED BONNET;OS AND Y;HANDWHEEL;MFG: POWELL IND;P/N: 
GA15FA55GB

1 EA



263245 1000194303 B
VALVE,GATE;1-1/2";3715PSI AT 100 F;CLASS 1500;RTJ FLANGED R20;ASTM A105;F6 STEM,F6 DISC,F6 HF 
SEAT TRIM;HANDWHEEL;MFG: DSI;P/N: 6187RA8-18

2 EA

260971 1000192187 B
VALVE,GLOBE;3";150LB;RAISED FACE FLANGED;ASTM A351-CF8M/ASTM A182-F316;AISI 316;MFG: 
WARREN;P/N: 2156

3 EA

286686 1000216514 B
VALVE,CHECK;FLAPPER;6";0.45PSI;CLASS CLASS 150/300;DROP-IN;CARBON STEEL;CF8M/316 STAINLESS 
STEEL TRIM;NACE;MFG: DFT;P/N: 9058

6 EA

278526 1000208746 B VALVE,BALL;3";300LB;RAISED FACE;CF8M;TFM SEAT TRIM;HANDWHEEL;SERIES 65F2 2 EA

15038 1000009266 B
VALVE,BALL;2PCS FLOATING;3X3X3;700PSI;CLASS 300;RAISED FACE FLANGED;FU LL PORT;CARBON 
STEEL;CHROME PLATED,CARBON STEEL STEM,NYLON SEAT TRIM;N ACE;BUNA-N 
SEAL;HANDLE;LESS;MFG: BALON;P/N: 3F-F33-RF

2 EA

287481 1000217284 B
VALVE,BALL;B182;2" X 2";300LB;RAISED FACE FLANGED;S8-42;SEAT S8-42,AND STEM S2 
TRIM;B16.34;HANDLE;MFG: CAMERON;P/N: 2168091-48-21

4 EA

19454 1000013674
ELBOW,PIPE;12";BUTT WELD;90DEG;LONG RADIUS;SCH STD;SEAMLESS BLACK CARBON STEEL;ASTM 
A234,ASME SA234;GR WPB;P/N: 31100120040

6 EA

19454 1000013674
ELBOW,PIPE;12";BUTT WELD;90DEG;LONG RADIUS;SCH STD;SEAMLESS BLACK CARBON STEEL;ASTM 
A234,ASME SA234;GR WPB;P/N: 31100120040

6 EA

316131 1000250512 B
VALVE,GATE;12";CLASS 150;RAISED FACE;WCB;DISC WCB/316,SEAT A105,STEM 316 STAINLESS STEEL 
TRIM;MOP 285PSI @ -20 TO 100F;FULL PORT;MFG: WILLIAMS

2 EA

316130 1000250511 B
VALVE,GATE;12";CLASS 150;RAISED FACE FLANGED;LCC;DISC HF,SEAT HF,STEM 316 STAINLESS STEEL 
TRIM;MOP 285PSI @ -20 TO 100F;FULL PORT;MFG: KITZ;P/N: SCLSMM-N

1 EA

317547 1000251853 B
VALVE,GATE:8";150 LB;FULL PORT;285PSI @ -20F;80PSI @ 800F;RF;HANDWHEEL OPERATED;ASTM A216 
GR WCB BODY;CR13/HF,API8,SEAT STELLITE;MFG:CAMERON NEWCO,P/N:11F-CB2

2 EA

268647 1000199394 RESISTOR;HRG;2400V L/N,4160L/L;WITH 6' STAND 1 EA

1284


